EARAZROREIERT — 2 N—XBISY —F 2017510118 (k) 13[EIF5RI5H

PR O 34 S R2K ‘ (x42] 7 ‘ [Emsh]l  — | 4 (&) 12000 &
[A&4£] 1 7% :500,000  ~ 23#&:100,000  ~ 33#&:75000 M ~ 43#%:50,0008”  53&:25,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N RF D :15. — . — iho&E— (A
i7lg| x75E2 7 B 2 i 1(1_5)5 5-5 39.0 5 ;1_566) gﬁ;@ 3E]
RNRIVTSY BNV RY =5 FHE%S
o i 2 | AllE 1:15.8 3-3 39.8| — 1 458 | EERESL (dtimsE)
2| 11| X=%A _ 54.0 (1172 Ca | EIIKH
RIZRT—YF— BA—INTOyHL HaFHTT— I
*—J fo2 | HLEX 1:16.2 3-3 40.2| - 6 | 504 |/MEHZE (timE)
3(7|7 54.0 () gy | FUEME
L:7v3iI7—-L B:X¥—hIvY i AErae]
- o= Be] EBEE : - — =FHBR (ALimE)
455|732 FTT 4 2 | B e %2 I
L:TIVYAZXI R B:TSLTT127 P95l B8R
o S B2 | BRRT 1:17.0 7-8 39.9| — 10 | 448 |/NEE (bimd)
5 3| 7V—=X 54.0 @) w2 | ) 55> K
2= hR—a BLRXAH/ AT 33— 752 RS
=0 548 BrEses 7. - 6| - HRE= (i)
58| | L7 A7 s w2 | B BLL e T e T
LTIVTFINZ22 B:xFHRAFTHN ZRE7 7 — L
BRER% 52 7. - . — HeiEE (s
" N ! i o2 i 1(/1;; 10-10 | 39.0 3 (4;8) e il
RTLEFFE2Te BIF4N-—FULS & IE
. # 2 | HLERE 1:17.6 6-6 “n.0| — 7 424 | HAFOEA (AbiEaE)
sl 2 EXAZ2—-I% 54.0 (2 1/2) (-10) i E & =
L:ANZRATINYG B: 772 Y—EEyY R INEHS
N KEFHI :18. - . — # (deimE)
9 NZree o2 %54_0 1(138)2 9-9 40.6 9 (4+540) 5 3E]
Wi Z—IN—FK—Zy b B:LY —BR
2 | BB 1:18.7 1-1 43.3| — 8 440 | BHEE (LiEE)
16| F—7* 54.0 2 1/2) o) |HEAMEL
R:pxEXY B:0FO0F Kb g%
® 1—F—@EBIERL
13—7-—
20—F—
Jol=5r= 6,9,(1,7),8,2,(3,5),10,4
41—F— (6,9),(1,7),8,2,5,3,10,4
[ N5
B 8 900H 714K 1-8 1,080 B 1-7 1,220 JEE 1-7-8 7,420
B B 8 580/ 7-8 2,930 B & 1-8 3,000 JEE 8-1-7 65,880
1 170M 1-7 920 B E 8-1 9,450M
7 490/

ABICOVWTRDTEEERROODE. TR LIV,



